

## Republic of the Philippines Office of the President

### PHILIPPINE SPORTS COMMISSION

# **REQUEST FOR QUOTATION**

The Philippine Sports Commission, through its Bids & Awards Committee, invites interested **PHILGEPS-accredited** suppliers to submit SEALED signed formal quotation/s for:

Particular	Description						Place of Delivery
Supply and Delivery of Customized Round Neck and Collared Shirts for 2023 Philippine Reserve Officers' Training Corps (ROTC) Games	Description  Round Neck Shirt, as per design Specification:  >Material: Cotton, should keep their shape; dye-colors should not fade; absorbent; breathable; hypo allergenic; non-toxic  >Printing Process: Heat Pressed, Direct to Film (DTF)  >Print Design: Front – logo of ROTC; Back – logo's of PSC, CHED & DND, VOLUNTEER/MEDIA Breakdown according to color and	QTY	Unit	<u>Unit</u> <u>Cost</u>	Total Cost	463,000.00	Property and Supplies Office, Rizal Memorial Sports Complex, P. Ocampo Sr. St. Malate, Manila
	sizes:  1 APPLE GREEN COLOR FOR  VOLUNTEER  XS - 30pcs, S - 65pcs, M - 100pcs, L - 110pcs, XL - 55pcs, XXL - 25pcs,	400	pcs	350.00	140,000.00		
	XXXL - 15pcs  2 GRAY COLOR FOR MEDIA S - 20pcs, M - 32pcs, L - 33pcs, XL - 10pcs, XXL - 5pcs Collared Shirts, as per design Specification: >Material: Cotton, should keep their shape; dye-colors should not fade; absorbent; breathable; hypo allergenic; non-toxic >Printing Process: Heat Pressed, Direct to Film (DTF) >Print Design: Front – logo of ROTC;	100	pcs	350.00	35,000.00		
	Back – logo's of PSC, CHED & DND, TECHNICAL OFFICIAL (RED&BLUE COLLARED SHIRT)  Breakdown according to color and sizes:  BLACK COLOR FOR VIP & TWG XS - 20pcs, S - 32pcs, M - 60pcs, L - 60pcs, XL - 30pcs, XXL - 20pcs, XXXL - 10pcs, 4XL – 5pcs, 5XL – 3pcs	240	pcs	450.00	108,000.00		

RFQ08162023

4	RED COLOR FOR TECHNICAL	200	pcs	450.00	90,000.00		
	OFFICIAL						
	XS - 10pcs, S - 20pcs, M - 50pcs,						
	L - 50pcs, XL - 35pcs, XXL - 20pcs,						
_	XXXL - 15pcs						
5	BLUE COLOR FOR TECHNICAL	200	pcs	450.00	90,000.00		
	OFFICIAL						
	XS - 10pcs, S - 20pcs, M - 50pcs,						
	L - 50pcs, XL - 35pcs, XXL - 20pcs,						
	XXXL - 15pcs						
	***nothing follows***						
	Note:						
	>Delivery Terms requested by						
	end-user: Three (3) Calendar Days						
	>1st Batch of Delivery:						
	August 24, 2023						,
	Round neck Shirt, Apple Green for						
	Volunteer						
	XS - 5pcs, S - 10pcs, M - 25pcs,						
	L - 25pcs, XL - 15pcs, XXL - 15pcs,						
	XXXL - 5pcs					-	
	Round neck Shirt, Gray for Media						
	S -10pcs, M - 16pcs, L - 16pcs,						
	XL - 5pcs, XXL - 3pcs						
	Collared Shirt - BLACK COLOR FOR						
	VIP & TWG						
	XS - 10pcs, S - 20pcs, M - 35pcs,						
	L - 35pcs, XL - 30pcs, XXL - 10pcs,						
	XXXL - 5pcs, 5XL - 3pcs						
	Collared Shirt - RED COLOR FOR						
	TECHNICAL OFFICIAL						
	XS - 10pcs, S - 10pcs, M - 35pcs,						
	L - 35pcs, XL - 30pcs, XXL - 20pcs,						
	XXXL - 10pcs						
	Collared Shirt - BLUE COLOR FOR						
	TECHNICAL OFFICIAL						
	XS - 10pcs, S - 10pcs, M - 35pcs,						
	L - 35pcs, XL - 30pcs, XXL - 20pcs,						
	XXXL - 10pcs						
	>2nd Batch of Delivery:						
	September 1, 2023						
	Round neck Shirt, Apple Green for						
	Volunteer						
	XS - 25pcs, S - 55pcs, M - 75pcs,						
	L - 85pcs, XL - 40pcs,XXL - 10pcs,						
	XXXL - 10pcs						
	Round neck Shirt, Gray for Media						
	S -10pcs, M - 16pcs, L - 17pcs,						
	XL - 5pcs, XXL - 2pcs						
	Collared Shirt - BLACK COLOR FOR						
	VIP & TWG						
	XS - 10pcs, S - 12pcs, M - 25pcs, L - 25pcs, XXL - 10pcs, XXXL - 5pcs,						
	4XL – 5pcs						
	True - opos						

RFQ08162023 2

Collared Shirt - RED COLOR FOR
TECHNICAL OFFICIAL
S - 10pcs, M - 15pcs, L - 15pcs,
XL - 5pcs, XXXL - 5pcs
Collared Shirt - BLUE COLOR FOR
TECHNICAL OFFICIAL
S - 10pcs, M - 15pcs, L - 15pcs,
XL - 5pcs, XXXL - 5pcs

Delivery Terms: Three (3) Calendar days

The following documents must be submitted from 17 August 2023 to 20 August 2023 at 5:00 pm, directly to the Bids and Awards Committee Secretariat located at Room 207, 2<sup>nd</sup> Floor, Administration Building, Rizal Memorial Sports Complex, Pablo Ocampo Sr. St. Malate Manila.

- 1. PHILGEPS Registration or PHILGEPS Certificate
- 2. Updated Omnibus Sworn Statement (notarized), per GPPB Resolution 16-2020
- 3. 2023 Mayor's/Business Permit
- 4. Income Tax Return (ITR) For 2022

For additional information, please contact the Procurement Office nos. Telefax: 8 523-9831 loc. 143/175.

Quotations must be properly labeled with reference number on the project offered. In case the deadline falls on non-working, legal holiday, or special non-working holiday, the deadline shall be on the next working day.

The Commission reserves the right to not accept any and all quotations or not award the contract on the following grounds:

- There is prima facie evidence of collusion;
- The BAC failed to follow prescribed procurement procedures; and or
- There are justifiable grounds where the contract will not redound to the benefit of the government without incurring any liability to the affected bidder/s.

PAULO RANCISCO C. TATAI

BAC Chairman

Date Posted on PHILGEPS & PSC website: August 17, 2023

#### SAMPLE DESIGN FOR ROUND NECK SHIRT - APPLE GREEN





#### SAMPLE DESIGN FOR ROUND NECK SHIRT - GRAY





RFQ08162023 4

## SAMPLE DESIGN FOR COLLARED SHIRT - BLACK





## SAMPLE DESIGN FOR COLLARED SHIRT - RED





RFQ08162023 5

#### **SAMPLE DESIGN FOR COLLARED SHIRT – BLUE**





RFQ08162023